Divide by Positive Powers of Ten (I)

Find each quotient.

5,758 : 102 = 7,0842:10 =
7,3:10% = 3,368 : 10° =
6,387 : 102 = 5,2:10% =
0,565 : 10" = 8,34:10% =
4,985: 10" = 7,5:10% =
0,5802:10% = 5,94:10% =
1,8:10% = 0,605 : 102 =
9,4695 : 103 = 8,522 :10% =
7,02:10% = 6,94:10 =
2:10% = 2,3:10% =
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Divide by Positive Powers of Ten (I) Answers

Find each quotient.

5,758 :10% = 0,05758 7,0842:10" = 0,70842
7,3:10'=10,73 3,368 :10° = 0,003368
6,387 : 10°> = 0,06387 5,2:10°=0,0052
0,565: 10" = 0,0565 8,34:10%*=0,0834
4,985:10" = 0,4985 7,5:10%= 0,075
0,5802:10% = 0,005802 5,94 :10'= 0,594
1,8:10°=0,018 0,605 : 10° = 0,00605
9,4695 : 10° = 0,0094695 8,522:10' = 0,8522
7,02:10'=0,702 6,94 :10" = 0,694
2:10%=0,02 2,3:10*=10,023
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